1. In a race the winner did _____._____ seconds while the second place runner did 

_____ _____._____ seconds.  The next person, in ______rd place was _______ tenths behind second place and 1 full second behind the winner.  The ______th and ______th to finish the race tied ______ tenths seconds later, with a finishing time of 11 ½ seconds.
2. A piece of carpet ______ feet square would have an area of ______ ______ square feet and a perimeter of ______ ______ feet.  If the carpet is ______ feet less  on each side the area would be _______ ______ square feet and perimeter also 16 feet.  If the carpet was ______ feet on each side the perimeter would be 2______ feet.

3. Two small high schools with populations of approximately ______ ______ ______ students each have a total of about ______ ______ ______ students, about 100 less than 1000.  If (fraction) _____/______ of the total go on to college, about ______ hundreds of them will be college bound. If ______ ______ _______ of the others go to a trade school, only about 120-125 do not pursue further schooling.

